Perpendicular Bisector Theorem

If a point is on the perpendicular | .
bisector of a segment, then it is

equidistant from the endpoints of

the segment.
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PROOF: SEE EXAMPLE 2. Then... PX = PY



How can you find points that are equidistant from the endpoints of AB?
What do you notice about these points and their relationship with AB?




Converse of the Perpendicular Bisector Theorem

If a point is equidistant from the | . IV
endpoints of a segment, then it is P
on the perpendicular bisector of
the segment.
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PROOF: SEE EXAMPLE 2 TRY IT. Then... XQ = YQ and % 1 XY



What is the value of AD?
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a. What is the value of WYy?
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What is the value of OL?
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Angle Bisector Theorem

If a point is on the bisector of an )
angle, then it is equidistant from

/%(r
the two sides of the angle. & =
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PROOF: SEE EXERCISE 9. Then... BD = CD



What is the value of KL?
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If JL=14, KL =10, and ML = 7, what is JK?




fZXWY =~ ZZWY and XY = 4, what is YZ?




7.f XY =6.5,ZY=6.5 and m£ZWY = 18, whatis m£XWZ?




The angle bisector cuts the opposite side in the same ratio as the
two other sides.
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